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AB = 60° =8+v3(cm)
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A’C = V162 - 72 = 207 = 323

cosA = cosA’ =
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@ 4 cm @ 4V2cm
@ 4+5cm ® 4v6cm

m:stm(ﬁm:Sx%g = 4v3(cm)
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®4v2  @4v38 @4vi @avi 94V

AH = 12sin60° = 12><‘/7g — 643
ﬁ:12cos60°=12x%:6

CH=8-6=2
x=1/(6V3)2+22=VI08 +4= VII2=47
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BH = 200 X sin 60°

=200><‘/7g

=100V3
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= 0 —_
200 x 5
=100

. AB = (100\/5)2+2o2
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T sin | cos | tan

22°10.37/0.93/0.40

50° 10.77/0.64 1,20

@ 150cm? @ 160 cm? @ 180 cm?

12(cm)

— AD 12
LAED S T = tan22° 040 = 30(cm) °J*.
w2t AABC = % X (10 + 30) x 12 = 240( cm?) o]t}

AABD ©JA AD = BDtanB = 10tan50° = 10 x 1.20 =




